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FRERIOHREBY . FEEILBLLFET,
B OETHECETNIMHESHBLEME. FROEYSHM>ELET .,

RHEFRBHEBEOLS Mo
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BRXE#H T LR/INT—

REESRENE=RHERBEM+QBBEL=/\—Y LY —ERRABEM+Q)HEHREEME

+@RENHEEIEEE = FA 3.99|F/kWh
(1) PR} & 3R 2 B i = (SE % $Hfi4& —37,200M) x E#EBi{fi~1,000 = 3.19|F/kWh
20244128 ~2025%2 A EH D E G #fcHEmE
A 1KIBHT=Y DT E RS 75,519 { 0.4699 HAE B 0.197 M
B: 1tdH1=YDFHLNGEE 96,530 [ 0.0000
C: 1tH-YDTEHARME 22,788 M 0.7879
LR = AXxa +BXx B8 +Vxy = 53400 M (100MEKEMIERAN)
Q) BEI-N—YI)LY—ERFEE M= (B SR EHE®E —0M) x E#EB{H 1,000 = 0.00JF/kWh
20244128 ~2025%2 A EH D E G #fcHEmE
A 1KkIBHT=Y DT E RS 75,519 { 0.0000 HAE B 0.000 [
B: 1tdHh1=YDFHLNGEE 96,530 [ 0.0000
C: 1tH-YDTEHARME 22,788 M 0.0000
HEEYREMEK=AXxa +BXS8 +VXxyr=0H (100 KEMEIERA)
Q) HEHFAEBEM=A<BDEE. HEHFABEM=(A—B)xDx(1+HE&RE) = 0.00JF1/kWh
AS>COEE . HEARABEE=(A—C)XDx(1+HEHREK) = 0.00JF1/kWh
A BTADIVT7ITSARAFEHE-(1-18KR) x HER 11.88 BMADOIVTTSAREHIE 9.95
B: EJTIAEREEEM (Fiik) 8.00 =P 7.9%
C: BMFHEEAEE M (Frik) 14.00 SRR 110%
D: #EEE 70%
4) REHEHAIREE 0.80|F4/kWh
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REESRENE=RHERBEM+QBBEL=/\—Y LY —ERRABEM+Q)HEHREEME

+@RENHEEIEEE = FA 5.29 | /kWh
(1) PR} B S B B i = (SE A %MEHE — 31,400[) x H#EB{fi—1000 = 4.49|M/kWh
20244128 ~2025%2 A EH D E G #fcHEmE
A 1KIBHT=Y DT E RS 75,519 { o 0.1152 HAE B 0.221 M
B: 1tdH1=YDFHLNGEE 96,530 [ 0.2714
C: 1tH=YDEHR RIEE 22,788 M Y 0.7386
LR = Axa +Bx B8 +Vxy = 51,700 H (100MEKEMIERAN)
Q) BEI-N—YI)LY—ERFEE M= (B SR EHE®E —0M) x E#EB{H 1,000 = 0.00JF/kWh
20244128 ~2025%2 A EH D E G #fcHEmE
A 1KkIBHT=Y DT E RS 75,519 { o 0.0000 HAE B 0.000 [
B: 1tdHh1=YDFHLNGEE 96,530 [ B : 0.0000
C: 1tH=YDEHR R 22,788 M Y 0.0000
HEEYREMEK=AXxa +BXS8 +VXxyr=0H (100 KEMEIERA)
Q) HEHFAEBEM=A<BDEE. HEHFABEM=(A—B)xDx(1+HE&RE) = 0.00JF1/kWh
AS>COEE . HEARABEE=(A—C)XDx(1+HEHREK) = 0.00JF1/kWh
A BTADIVT7ITSARAFEHE-(1-18KR) x HER 12.45 BMADOIVTTSAREHIE 10.36
B: EJTIAEREEEM (Fiik) 7.00 =P 8.5%
C: BMFHEEAEE M (Frik) 14.00 SRR 110%
D: #EEE 70%
4) REHEHAIREE 0.80|F4/kWh
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REESRENE=RHERBEM+QBBEL=/\—Y LY —ERRABEM+Q)HEHREEME

+@RENHEEIEEE = FA 5.25|F/kWh
(1) PR} & 3R 2 B i = (SE R $Hli#& —44,200M) x E#EBi{fi-1,000 = 4.45|M/kWh
20244128 ~2025%2 A EH D E G #fcHEmE
A 1KIBHT=Y DT E RS 75,519 { 0.1970 HAE B 0.232
B: 1tdH1=YDFHLNGEE 96,530 [ 0.4435
C: 1tH-YDTEHARME 22,788 M 0.2512
EgkEEE = AXxa +BXx B8 +VXxy = 63400 M (100MEKEMIERAN)
Q) BEI-N—YI)LY—ERFEE M= (B SR EHE®E —0M) x E#EB{H 1,000 = 0.00JF/kWh
20244128 ~2025%2 A EH D E G #fcHEmE
A 1KkIBHT=Y DT E RS 75,519 { 0.0000 HAE B 0.000 [
B: 1tdHh1=YDFHLNGEE 96,530 [ 0.0000
C: 1tH-YDTEHARME 22,788 M 0.0000
HEEYREMEK=AXxa +BXS8 +VXxyr=0H (100 KEMEIERA)
Q) HEHFAEBEM=A<BDEE. HEHFABEM=(A—B)xDx(1+HE&RE) = 0.00JF1/kWh
AS>COEE . HEARABEE=(A—C)XDx(1+HEHREK) = 0.00JF1/kWh
A: BTADIVTISARFEHE-(1-1843F) x TR 13.53 BMADOIVTTSAREHIE 11.45
B: EJTIAEREEEM (Fiik) 7.00 =P 6.9%
C: BMFHEEAEE M (Frik) 14.00 SRR 110%
D: #EEE 70%
4) REHEHAIREE 0.80|F4/kWh
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REESRENE=RHERBEM+QBBEL=/\—Y LY —ERRABEM+Q)HEHREEME

+@RENHEEIEEE = Fid 3.64|M/kWh
(1) PR¥} & 3R 2 B i = (SE % $Hfi#& —45,900M) x E#EBiffi-1,000 = 2.84|FH/kWh
20244128 ~2025%2 A EH D E G #fcHEmE
A 1KIBHT=Y DT E RS 75,519 { 0.0275 HAE B 0.233 M
B: 1tdH1=YDFHLNGEE 96,530 [ 0.4792
C: 1tH-YDTEHARME 22,788 M 0.4275
LR = Axa +BXx B8 +Vxy = 58100 M (100MEKEMIERAN)
Q) BEI-N—YI)LY—ERFEE M= (B SR EHE®E —0M) x E#EB{H 1,000 = 0.00JF/kWh
20244128 ~2025%2 A EH D E G #fcHEmE
A 1KkIBHT=Y DT E RS 75,519 { 0.0000 HAE B 0.000 [
B: 1tdHh1=YDFHLNGEE 96,530 [ 0.0000
C: 1tH-YDTEHARME 22,788 M 0.0000
HEEYREMEK=AXxa +BXS8 +VXxyr=0H (100 KEMEIERA)
Q) HEHFAEBEM=A<BDEE. HEHFABEM=(A—B)xDx(1+HE&RE) = 0.00JF1/kWh
AS>COEE . HEARABEE=(A—C)XDx(1+HEHREK) = 0.00JF1/kWh
A BTADIVT7ITSARAFEHE-(1-18KR) x HER 11.64 BMADOIVTTSAREHIE 9.83
B: EJTIAEREEEM (Fiik) 5.00 =P 7.1%
C: BMFHEEAEE M (Frik) 13.00 SRR 110%
D: #EEE 70%
4) REHEHAIREE 0.80|F4/kWh
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BRXE#H T LR/INT—

REESRENE=RHERBEM+QBBEL=/\—Y LY —ERRABEM+Q)HEHREEME

+@RENHEEIEEE = FA 4.28|F/kWh
(1) B4 B R Bl = (PRI —21,900) x E#EB {1,000 = 3.48|H/kWh
20244128 ~2025%2 A EH D E G #fcHEmE
A 1KIBHT=Y DT E RS 75,519 { o 0.2303 HAE B 0.161 M
B: 1tdH1=YDFHLNGEE 96,530 [ 0.0000
C: 1tH=YDEHR RIEE 22,788 M Y 1.1441
LR = AXxa +BX B8 +Vxy = 43500 M (100MEKEMIERAN)
Q) BEI-N—YI)LY—ERFEE M= (B SR EHE®E —0M) x E#EB{H 1,000 = 0.00JF/kWh
20244128 ~2025%2 A EH D E G #fcHEmE
A 1KkIBHT=Y DT E RS 75,519 { o 0.0000 HAE B 0.000 [
B: 1tdHh1=YDFHLNGEE 96,530 [ B : 0.0000
C: 1tH=YDEHR R 22,788 M Y 0.0000
HEEYREMEK=AXxa +BXS8 +VXxyr=0H (100 KEMEIERA)
Q) HEHFAEBEM=A<BDEE. HEHFABEM=(A—B)xDx(1+HE&RE) = 0.00JF1/kWh
AS>COEE . HEARABEE=(A—C)XDx(1+HEHREK) = 0.00JF1/kWh
A BTADIVT7ITSARAFEHE-(1-18KR) x HER 11.42 BMADOIVTTSAREHIE 9.57
B: EJTIAEREEEM (Fiik) 5.00 =P 7.8%
C: BMFHEEAEE M (Frik) 13.00 SRR 110%
D: #EEE 70%
4) REHEHAIREE 0.80|F4/kWh
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EIrcmai

BRI LRNT—

MHEFHAEHEB=DRHEREEM+QBS1—/\—Y LY —ERRE (M +Q)HE H LM

+NBENHERIBE= BPID15kWhET B 71.40 A
LRt A 476 F/kWh
(1) B4 B R B B i = (Y9 PR FMERE —27,100M) x EE#EB {1,000 = EHID15kWhET 59.40|H
2024512 ~2025F2 A FH DB Z#fsHImE gLt 3.96|M/kWh
A: 1KIHT=Y O 5 R RME 75,519 M a: 0.0140
B: 1t&H71=Y DT HLNGIEE 96,530 M B 0.3483 ~ 15kWhE 2 B {f 2475 H
C: 1tHI=YDEHR XM 22,788 M Y 0.7227 16kWh~ ZL#E BA {ff 0.165 M
EHBREMER = Axa +Bx B +Vxy =51,100 H (100MXFmEIEEA)
Q) BB A= /\—H LY —ERARE = (B S TR EHaRE —0M) x REEB{fH=1,000 = 0.00|F/kWh
20244128 ~2025%2 A £ DB Sk eHEHE
A: 1k T=Y DT R 75,519 [ a: 0.0000 HAEBE 0.000 M
B: 1tH7-YDFHLNGIHHE 96,530 M 0.0000
C: 1tH=YDTEHRERME 22,788 M Y 0.0000
HMETYRE@EKR=AXa +BXxB8 +VXy=0H (100MEKBEBREAN)
Q) HEHFXEM=A<BDIGE. HENREHEM=(A—B)XDX(1+HERE) = 0.00]F/kWh
A>SCOIGE. EHRABREM=A—C)xDx(1+HEBMREK) = 0.00|F/kWh
A: BTADIUTTSAREHE(1-BLZR) x ARE 11.26 BIADOIUT IS4 RAFHIE 9.44
B: ETIAEEEEM (Futk) 5.00 JRE 7.8%
C: BhNGREEE AR (Fiik) 13.00 REEER 110%
D: BEIE 70%
4) RElHEH8IR%EE 0.80|H/kWh
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BRI LRNT—

BMHBSABHEA=NRHERBEM+QBES1=/\—Y )Ly —E R+ Q)HE H A EL M

+NBENHERIBE= BPID15kWhET B 88.18 A
LELMN A 5.87 F/kWh
(1) BR¥ B R B B i = (P9 PRI #& — 26,000M) x EE#E B {1,000 = EHID15kWhET 76.18|M
2024512 ~2025F2 A FH DB Z#fsHImE gLt 5.07|M/kWh
A: 1KIHT=Y O 5 R RME 75,519 M a: 0.1543
B: 1t&H71=Y DT HLNGIEE 96,530 M B 0.1322 ~ 15kWhE 2 B {f 3.680 [
C: 1tHT=YDFEHF RIMK 22,788 M Y 0.9761 16kWh ~ £ £ B 0.245 M
EHPREME = Axa +Bx B +Vxy = 46700 (100MXFmEIEEA)
Q) BB A= /\—H LY —ERARE = (B S TR EHaRE —0M) x REEB{fH=1,000 = 0.00|F/kWh
20244128 ~2025%2 A £ DB Sk eHEHE
A: 1k T=Y DT R 75,519 [ a 0.0000 HAEBE 0.000 M
B: 1t#H7=Y DFHLNGIEE 96,530 M 0.0000
C: 1thi=YDEH R KMIE 22,788 M Y 0.0000
HMETYRE@EKR=AXa +BXxB8 +VXy=0H (100MEKBEBREAN)
Q) HEHFXEM=A<BDIGE. HENREHEM=(A—B)XDX(1+HERE) = 0.00]F/kWh
A>SCOIGE. EHRABREM=A—C)xDx(1+HEBMREK) = 0.00|F/kWh
A: BIADINT7TSAREHE (148K E) x AR 11.17 BIADOIUT IS4 RAFHIE 9.37
B: ETIAEEEEM (Futk) 5.00 JRE 7.7%
C: BhNGREEE AR (Fiik) 13.00 REEER 110%
D: BEIE 70%
4) RElHEH8IR%EE 0.80|H/kWh
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BRI LRNT—

BMHBSABHEA=NRHERBEM+QBES1=/\—Y )Ly —E R+ Q)HE H A EL M

+NBENHERIBE= BPID15kWhET B 50.16 A
LELMN A 456 F/kWh
(1) BR¥ B R B B i = (P9 PRI #& — 26,000M) x EE#E B {1,000 = EHID1TKWhET 41.36]H
2024512 ~2025F2 A FH DB Z#fsHImE gLt 3.76|MH/kWh
A: 1KIHT=Y O 5 R RME 75,519 M a: 0.2104
B: 1t&H71=Y DT HLNGIEE 96,530 M B 0.0541 ~11kWhE B {ff 2.154 [
C: 1tHT=YDFEHF RIMK 22,788 M Y 1.0588 12kWh ~ EL £ B 0.196 M
EHPREME = Axa +Bx B +Vxy = 45200 M (100MXFmEIEEA)
Q) BB A= /\—H LY —ERARE = (B S TR EHaRE —0M) x REEB{fH=1,000 = 0.00|F/kWh
20244128 ~2025%2 A £ DB Sk eHEHE
A: 1k T=Y DT R 75,519 [ a 0.0000 HAEBE 0.000 M
B: 1t#H7=Y DFHLNGIEE 96,530 M 0.0000
C: 1thi=YDEH R KMIE 22,788 M Y 0.0000
HMETYRE@EKR=AXa +BXxB8 +VXy=0H (100MEKBEBREAN)
Q) HEHFXEM=A<BDIGE. HENREHEM=(A—B)XDX(1+HERE) = 0.00]F/kWh
A>SCOIGE. EHRABREM=A—C)xDx(1+HEBMREK) = 0.00|F/kWh
A: BIADINT7TSAREHE (148K E) x AR 10.49 BIADOIUT IS4 RAFHIE 8.76
B: ETIAEEEEM (Futk) 5.00 JRE 8.1%
C: BhNGREEE AR (Fiik) 13.00 REEER 110%
D: BEIE 70%
4) RElHEH8IR%EE 0.80|H/kWh
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£

BRXE#H T LR/INT—

REESRENE=RHERBEM+QBBEL=/\—Y LY —ERRABEM+Q)HEHREEME

+@RENHEEIEEE = FA 2.98|F/kWh
(1) PR} & 3R 2 B i = (SE 9 $Hli4& —27,400M) x E#EBiffi-1,000 = 2.11|F/kWh
20244128 ~2025%2 A EH D E G #fcHEmE
A 1KIBHT=Y DT E RS 75,519 { o 0.0053 HAE B 0.136 M
B: 1tdH1=YDFHLNGEE 96,530 [ 0.1861
C: 1tH=YDEHR RIEE 22,788 M Y 1.0757
LR = AXxa +BX B8 +VXxy = 42900 M (100MEKEMIERAN)
(2) BB L =/\—H )L Y —E RFAE E i = (Bt & F ¥ #HfiFE —52,5001) x E#EE{fi+1,000 = 0.07]M/kWh
20244128 ~2025%2 A EH D E G #fcHEmE
A 1KkIBHT=Y DT E RS 75,519 { o 1.0000 HAE B 0.003 [
B: 1tdHh1=YDFHLNGEE 96,530 [ B : 0.0000
C: 1tH=YDEHR R 22,788 M Y 0.0000
BETHMEME=Axa +BX B8 + VX y= 75500 [ (100MEKEMIERAN)
Q) HEHFAEBEM=A<BDEE. HEHFABEM=(A—B)xDx(1+HE&RE) = 0.00JF1/kWh
AS>COEE . HEARABEE=(A—C)XDx(1+HEHREK) = 0.00JF1/kWh
A BTADIVT7ITSARAFEHE-(1-18KR) x HER 10.25 BMADOIVTTSAREHIE 8.52
B: EJTIAEREEEM (Fiik) 5.00 =P 8.6%
C: BMFHEEAEE M (Frik) 13.00 SRR 110%
D: #EEE 70%
4) REHEHAIREE 0.80|F4/kWh
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